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In the parallelogram ABCD, AB is parallel to CD, and BC is parallel to AD. M IAC( N] 'H}DE
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Giventhat AB = 3i — j — 2k and AD = 7i — j + 4k, find the area of the parallelogram.
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Q3a
The vector RS = xi — 9 + 3k makes anangle # with the positive x-axis. a
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(a) Show that x? :ﬁ—g.
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(b) Given that 8 is acute and that cos 8§ = %, find a unit vector in the direction of RS. J x-? .'1 o
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The vector RS = xi — 9j + 3k makes an angle 8 with the positive x-axis. b) 3
(a) Show that x? :ﬁ—:;—'?a . TAN &= _L;

(b) Given that # is acute and that cos 6 = g find a unit veetor in the direction of RS.
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The diagram below shows a cuboid whose verticesare 0,4, B, C, D, E, F and G. B_“(:; =~ M .B—?? m >\
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P is a point on the diagonal OF that divides OE in the ratio a: b, where a > b.
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